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REVIEW: Solving Equations!
Our end goal when solving any kind of equation is to %@.ﬁ' 'H'\—L VO\-(\'Q-bLQ k
KQ (€

]

| ANSWER KEY]

* Toisolate our variable, we need to get rid of anything standing in the way. To do that, we...
(explain in your own words) of what

vee +he oﬂocs.‘ﬂ opcra.:l-i‘o(\ e see o
MO e numbecs concel out

e For example, in the equationx + 3 =7, we _SOBNOCA~ 3 0m both sides. On the
left side, the 3's concel ,and we find thatx=_ "\ .

Try these examples:

2x =16 ;{—c=67
. - -2
T,/ - =56
x= ¥ 5 J9n 55
K =55
Two-step Equatiols [ ANSwe ®  FEY)

e When we have to undo multiple steps to get the variable by itself, have to use

a chLr O‘p Q @g Qh'o‘\g backwards. add.tHon
cobbrachicn-

* For example, in the equation 5x + 3 = 7, we would undo the foperation]

first by foperation] Sk SV bivach gnumber] é :

s Then we would undo the [opemﬁan]MMy [aperaubnjdtf v\'d-mq a
[number] ! 1 A \J

Try these examples:

% —4£=16 \h\l}%}= 5+ & ...psst! Don't forget about the
3 J-S invisible parentheses. How does
2-C = 56 that affect the order in which we
L(\"[ b X = ‘c‘ -12 -7 undo this problem?
L -C=
.}__‘é '{/? 114 K 5 98, 13
15 X = =" 1 ==
| 4 4 C=-H3
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ItisStep Equation lAMSwER Ksﬂ

For any equation with variables on both sides, we follow four specific steps. Label and perform

those steps on the following example:

2(x+3)-5=6(7-8x)

STEP NAME HERE
1. Dishry bU‘i{
2. €.V,

3 . Swated SiegS

SHOW WORK HERE

24l -5 = 4= XYy

2% +1 = H2 -HEx

2% + U= H2 - |

4. SimrLIEY : 0% = g
l X = ';‘.L)
Now try this one! 5

242(x-2)=2(22+x)

242w —-H=HUH +2x

'2_*-—7... T Y + 2¥
Ix-2% = HU +Z
Ox: H(a

‘\)W.\S ND)
a,(%O‘{J}S J'\’S
SO

k(:
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‘Equationswith-AbsoluteValve | ANSWE R KEY)

* Itis possible to get a positive value as a final answer when taking the absolute value of both
positive and negative values.

» Therefore, to make the absolute value bars disappear, we have to set up two equations, one

for the Pﬂ“S\"}\% case and one for the r'!-l-i-\jﬁ-h‘ W case.

For example:
im—-9| =4

Because of the absolute value bars, the quantity m - 9 could be equal to either A4 o - H ;

Solve it!
Set-Up #1 Set-Up #2
M- = Y m-a = -4
+ +9 ¢+ 9

\m:\% ‘m'—'—5]

*Don 't forget: If there is anything on the same side as the absolute value bars, we have to get rid of it
first!

Now try this: 5
$at-vp =\ 12 = p| x: 9
Z-p =5 . \Z-p="~5
A U -n &« |iz-p|:5 — -‘Z -12
-p = -7 -pz-17

Sei~Up &2

p=7 E =17
Now can yoii make an equation representing the solutions shown on this numberine?
RN midt 2.5

2101 2148 ¢ Aisk. 3.9

|x -28)=135

What about a word problem?

Martha runs an average of 3 miles per day, give or take a 2.5 miles. Write and solve an
equation to find the maximum and minimum distances she runs.

\X—S\zl.":

-2 = 2.% x -f3=-2.5
X/ r 3 ﬁ *3
2 —_—

Tx=55m] R
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Replacement Setsy | ANSWER LEY
***Key ldea: Plug 'n’ chug!***

e  With these problems, we are picking from a pool of numbers called the
ceplocement set

e We plug each one into the given equation to see if it makes the equation rve .

e Ifit does, we include it in the collection of numbers called the _3S4 whon S-Q*'

For example:

Give the solution set for the equation 2x + 4 = 8 for the replacement set {0, 1, 2, 3}
2(0)+H = 044 =4 X
20+ 24U = % %_‘3%
2(2)k Yz yeu=-¥ J
2(N+H = 6+U=10 ¥

A few important reminders:

i L

¢ A number can only be included in a solution set if it is included in the
M\W+ cet
* A solution set doesn’t always have to have just one value; it can have _my (‘HELL ,or

even_nont_ !

Feeling ready?! I'm sure you are! ©



